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6.

-

& e

S| R ’_ T ‘J .'\ ( o N SR T L_'J.n D) ’\ J WA= j\‘
<z T W \ When the Sun, the Moon and the Earth
:3'-2![_“;{' o - '1‘22{"( T W @A R, are in the straight line, the tide will be
1) SR O @) Adwms .“'T{"_,;-&" ; fﬁ’m;g_\,leap Tide  (2) Spring Tide
3) 2 R @) Srfre ST (3) Diurnal Tide (4) Mixed Tide
3T FRH F TAE T W ‘1‘Eﬁ % g 2. If other factors remain same, insolation
TITaq w1ty a7fRresas Brft received by Earth will be maximum on_
rd rd
1) 3TERH () 3WER 0 3m January .. 2) 3m ey
; (3) 4" August (4) 4" Jul
3) 4B (4) 4TJAEH - < . .
B & 9 o T o€ mEErTdy u TE 2 3. Which among the following is not a
e cold ocean current ?
(1) e 2) (1) Benguela  (2) Peru
(3) ®HAM (4) IR (3) Canari (4) Agulhas
T IS Hger % SR FrfaRrga d | 4. Which of the following region is the
J P TR FEifS I = RIR ? most ‘energy deficit’ region in terms of
: ¢ ¢ latitudinal heat balance ?
(1) Wi Tegt & 30° @ 70° N (1) Between 30° to 70° latitudes in
1] ~ both the hemisphere.
_ : 2) Bet 70° N to 90° N latitud
(@) Fa70° 3. & 90° 3. T e gl : B
(3) ¥ae1 80° 8. HI90°T. FeAEN % o9 (3) Between 80° S to 90° S latitude
! 5 only.
4) gl gl 3 80° @ 90° e < S (4) Between 80° to 90° latitudes in
both the hemisphere.
e Toe ¥4 § § BF @ 994 | 5, Which among the following landforms
e adie ? is not developed by wind ?
(1) SpEH 2) el (1) Zeugen (2) Inselberg
(3) @ (4) I (3) Arete (4) Yardang
I 619 TE SR 2 6. Chagos archipelago is located in
(1) gferoft geria TEEPR A (1) South Pacific Ocean
(2) Iaht weria AEEER | (2) North Pacific Ocean
3) fég wemmmd (3) Indian Ocean
4) dHETRH (4) China Sea
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(2) efeaoft ST AEEER §
(3) T wEmmRH
(4) FATH TEEFR §

frfaftgs # @ fpm @R / e @
aifires FEuET g ?

(1) & €9l
(2) Hd 9T
- (3) MeEre u ()
(4) A
it Sen &3 § ¥ B9 9
TEMG O H fRE ® 7
(1) TR (2) wiEn
3) T (4) sr

e & & STR-WTeT 1 SRR :
A. A1 I TECTHE §A

B. oI %1 e §

C. JATHHETA

D. gt o TRy S

£ 710 2 & HE I HT T BT :
(1) A,BTITC (2) A, BTID
(3) A,B,CTIID (4) %I ATAIB

10.

11.

Which among the following is not
correctly matched ?

(1) River — Natural Levees
(2) Wind — Tombolo

(3) Glacier - Cirque

(4) Wind - Seif

The South Sandwich trench is located
in

(1) North Pacific Ocean
(2) South Pacific Ocean
(3) Indian Ocean

(4) Atlantic Ocean

Which among the following sea/lakes
has highest salinity ?

(1) Red Sea

(2) Dead Sea

(3) Great Salt Lake
(4) Lake Van

Which one of the following coal field is
located in Mahanadi valley ?

(1) Talcher (2) Jharia
(3) Raniganj (4) Bokaro

Which of the following is the cause of
tides ?

A. Moon’s gravitational pull
B. Sun’s gravitational pull

C. Centrifugal force

D. Gravitational pull of Earth

Select the answer from the codes given
below :

(1) A,BandC (2) A,BandD

(3) A,B,CandD (4) Only AandB
o
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13.

14.

15.

16.

HATGUE ST 1T B

(1) @ R

(2) g 3 G & fAY
(3) @0 @'

(4) IVH TG

g i 0T TAEHT H1 SR-HE I
A T T ST 8

(1) 2.89 7T
3) 1657

(2) 3.187A
@) 2177

Preafofes & @ S H/A 3D SauA
/%7

A. TEHUT B. @Ml
C. Ffapiffmam D. & 4w
fom e el & IR H T B
(1) ATITCHE R |

2) A,BAAICHEZ |

(3) A,B,CTNDEEE |

(4) A CTNDEER |

3T ITEH 5 hrewn @R

(1) Toeem | (2) anfem#
(3) ¥r@vsH (4) rvew &

g e # feanfea w1 R

fope witrafea fmam 2
(1) F.3hEe (2) T
@) .59 (4) TEwE

12.

13.

14.

15.

16.

(1) 2.89 times

Malanjkhand is known for
(1) Copper mining

(2) Iron ore mining

(3) Gold mining

(4) Mica mining

The tide producing force of moon is
approximately greater than that of sun

(2) 3.18times

(3) 1.65 times (4) 2.17 times

Which of the following is/are cold
current/s ?

A. Peru Current

B. ElNino

C. California Current
D. Norwegian Current

Select correct answer from the codes
given below :

(1) A and C are correct.

(2) A, B and C are correct.
(3) A, B, C and D are correct.
(4) A, CandD are correct.

‘Kodrama’ mica producing centre is
situated in

(1) Rajasthan
(3) Jharkhand

(2) Odisha
(4) Andhra Pradesh

In human geography, Principle of
Activity’ was proposed by

(1) C.O. Saur (2) Barrows
(3) J.Brunches (4) Humboldt
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frafofea § @ =9 @ TeErE ard

Tiam % AT o feun sged € 2

(1) A HEERR hi IT T S
fergercftar e

) e weramR i ST fagadia am

(3) e e FEEER H g
fargadia um

(4) I IEAlH gaE

i I8 B
(1) SorE Tehet v&Y

(2) wSifi agEiH I&T

(3) T % Tfafr g
4) T e g9 TweE vad

frafafea § & feg v9d SEer | avEa:
T FAAE WET A1 aR W I T
oo e e wwa SREe A 7
(1) T vt
(2) FeR T
(3) TEATHATS e
@) Pefas
CIER >R
(1) YEETHR (2) STHTHR
(3) EHH 4) &

wa =g o ufvedt S w6 '
ufe wdi 2

(1) A1 TSR & |14

(2) % @1 % 3 ITH

(3) farem=et vda % dered! & WY

(4) Tewrera % gfdoft gt & wr

17.

18.

19.

21.

Which of the following ocean currents
change their direction from season to
season ?

(1) North and South Equatorial
currents of Atlantic Ocean

(2) North Equatorial
Indian Ocean

(3) South Equatorial Currents of
South Atlantic Ocean

(4) North Atlantic Drift

Currents of

International Projection is

(1) Modified Mercator’s Projection
(2) Modified Polyconic Projection
(3) Gall’s Stereographic Projection

(4) Modified Gnomonic
Zenithal Projection .

Polar

Which among the following mountain
range is believed to acquired its present
form roughly at the same time as that of
Arawali ?

(1) Naga Hills
(2) Kunlun mountain

(3) Nallamalai range
4 Shivalik

' Bonne’s projection is

(1) Conical
(3) Zenithal

(2) Cylindrical
(4) Conventional

The mean position of Westerly Jet
Stream in winter lies

(1) along Karnataka Plateau
(2) just North of Tropic of Cancer

(3) along the foothills of Vindhyan
Mountain

(4) along the Southern Slope of
Himalaya



22.

23.

26.

mﬁamﬁﬁaaﬁﬁﬂwﬁm%aﬁ
ST g ?

(1) mfema (2) T d
(3) TAFRAIEA Y (4) TB-TEGH

wwa a1 fRafa fdié-2017 (State of
Forest Report 2017) 3 3TTHR d o e
g & gare (Sfde #) gaiftes § 2

(1) FeoreE gew  (2) BeiRH
3) fgu (4) =g
frfefen # @ e w9 & A=

g # et i w3 et & @ e A
qate ATl avE g R ?

(1) =redt 7en (2) e qal
() wErE g (4) s g

X-H4
(1) IO GTeHS T8-FaY

(2) U1 RUTTCHS e
(3) I Tg-g9Y TE
@) Hftra g gE-dey

forifepa f & 1 1 e gAfea e 8 7
(1) ¥§—HRd

2) firean — e

(3) TATGHT — HRATR

(@) = — UTEATE

22.

23.

25.

26.

Deviations in standard deviation is
calculated from

(1) Median

(2) Mode

(3) Arithmetic Mean

(4) Correlation

As per ‘State of Forest Report 2017’
which state of India has the highest
percentage of forest cover ?

(1) Arunachal Pradesh

(2) Mizoram

(3) Tripura

(4) Manipur

Which of the following Indian soil get
deep cracks in summer which allows
sufficient oxygenation in soil ?

(1) Black soil (2) Alluvial soil
(3) Desert soil (4) Organic soil

The diagram shows

y-values

x-values
(1) Perfect Positive correlation
(2) Perfect Negative correlation
(3) No correlation

(4) Limited positive correlation

Which among the following is not
correctly matched ?

(1) Jhoom - India

(2') Milpa - Rhodesia
(3) Ladang — Malaysia
(4) Chena - Thailand
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27. W & FuET 2011 (3ifam AER) F

29.

30.
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ST W ) ST e e o R
(1) 18.7% 2) 212%

3) 17.7% {4 20.6%

frafeafea o @ =F € 7 ardl 918 9

& for e T 7

A. T B. fayg

C. D. &

£ T e A T I HT T B :
(1) A,CTND (2) CIAB

(3) A,BTIIC (4 A, BTIID

fyrifera & #i €t e Frates A
ferdiwan (ieron) &

(1) @al 1 &SI IAHR

(2) 3= THd

(3) I e I 39 W Wi SAfE HH
I

(4) Wi TS w0 399 Wy i e 3=
J99

“3tfave THESE’ Yo AT el @
(1) He-z=ga H

@) -t

(3) Fefheaa-dga H

(4) Afp-3TETH B

27.

28.

29.

30.

The decadal population growth rate of
India as per Census of India 2011 (final
data) is

(1) 18.7% 2) 21.2%

3) 17.7% 4 20.6%

Which of the following river basin

is/are not notorious for flood hazard ?
A. Penganga B. Indus
C. Kosi D. Kaveri

Select the correct answer from the

codes given below :
(1) A,CandD (2) CandB
(3) A,BandC (4) A,BandD

Which among the following is a
characteristic of intensive subsistence
agriculture ?

(1) Large size of farms
(2) Highly mechanized

(3) High yield per acre but low per
capita yield

(4) Low yield per acre but high per
capita yield

‘Orie;xt Express’ raiiway line connects
(1) Paris — Istanbul

(2) Perth — Sydney

(3) Halifax — Vancouver

(4) Tokyo — Osaka



31. H=-1= g1 @ gafem =X aun feg g

32.

33.

34.

R ST ITINT BT §T T T H71 944 1 ;
-1 gEt-11
A. feETse 1. =i
B. W% 2. IV
C. WEHIETER 3. g I
D. fommse 4. FEen
T2
A e
(@ 21 1. -4
PR s
= R T e
) OF e R e
frifera & @ i o fave ) saeqam 71
R
(1) A 2) =
(3) fufeefh (4) T
fraifra 4 @+ sHifeh dwam
Trgia 1 wem s H v g ?

(1) SEIHEIFTTI X
) ST @I R
3) AT EIE g
@ T EfEEw

fr=ferfaa o @ o5 goama w53 &1 yawm
8 (SAIL) F AR 7

A. Ty B. FMR

C. TSTHen D. R

few Tu e @ Tt I T =TI Fifw
(1) I A, BaU1C

(2) A,B,CT¥uID

(3) @B, CAYTD

(4) FaeI B AT C

3%

32.

33.

Match List — I with List — IT and select
the correct answer using the codes
given below :

List - I List - II
A. Limonite 1. Silver
B. Stephanite 2. Mica
C. Muscovite 3. Ironore
D. Lignite 4. Coal
Codes :

Aagd BosiiC 00
(133 2 1 4
2) 3 1 2.
(32 3 1 4
4 1 2 3 4

Which among the following is the
busiest navigable river of the world ?

(2) Danube
(4) Rhine

(1) Amazon
(3) Mississippi

Which among the following shows the
first stage of Demographic Transition
Theory ?

(1) High birth and high death rate
(2) High birth and low death rate
(3) Low birth and high death rate
(4) Low birth and low death rate

Which of the following steel plants are

managed by SAIL ?
A. Bhilai B. Durgapur
C. Rourkela D. Burnpur

Select the answer from the codes given
below :

(1) A, B andC only
(2) A,B,CandD
(3) B, CandD only
(4) Band C only
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35.

36.

37.

38.

39.

40.

Which among the following is not
densely populated region of the world ?
(1) East Asia

(2) South Asia

(3) Western Europe

(4) Northern Europe

Who said “Human Geography is human
ecology” ?
(1) Hartshorne
(3) Ratzel

(2) H.H. Barrows
(4) W.Kirk

Development that enlarges people’s
choices and improves their lives is

_ termed as

(1) Sustainable development
(2) Human development
(3) Regional development
(4) Social development

Which among the following regions has
highest ~ percentage’ of ageing
population (above 60 years age) to their
total population in year 2014 ?

(1) North America (2) Australia
(3) Europe (4) Oceania

Brundtland report is related to
(1) Economic development
(2) Sustainable development
(3) Human development

(4) Land slide control

R.F. 1:20,000 is equal to
(1) 1cm=20 metre

(2) 1cm =20 hectometre
(3) 1 cm -= 2 hectometre

(4) 1cm =2 decametre



41.

42.

43.

45.

ﬁw&q‘fﬁaﬁﬁmaﬁwﬁmaﬁ
T EET I gRAT R ?

(1) Tfem g @wea way
(2) Yo @A gHeE yag

(3) Y EHE TG 9EY
(4) TS gay @9 va

Freforfea & & ® a1 wo g
JHIR ?

(1) 7T &g

(2) TTHA TG

(3) TR SRR T&T -
(4) TEUHHR y&Y

T e freuss i (RF) 1 : 4,00,000
TR T 8 | 39 gEEE | 5 S B
T W@ gt % fee gft 1 feamat 7

(1) 20fs.d. = (2) 200 .. =
(3) 20 TR (4) 200 THER Y

ot amrtr vreit & @ ¥ T e wETERR

T fRmae 7
(1) rm e 2) AR TE
3) T 4) guerTd

s Ifsaehret U8 aniges iaere fsivar &
(1) AHEH Sorarg it

(2) IorHfeaHy aut aTef ety i

(3) HEETHY Searg H

(4) iRet 09 gt Ferarg Y

T T8 T ITEH U5 B
(1) 9 ase (2) MER
(3) R wiE @) 9% e
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41.

42,

43.

45,

In which of the following projection,
equator cannot be drawn ?

(1) Stereographic Polar  Zenithal
Projection

(2) Polar Zenithal Equal Area
Projection

(3) Polar  Zenithal Equidistance
Projection

(4) Gnomonic Polar Zenithal Projection

Which of the following projection is
orthomorphic ?

(1) Gall’s Projection

(2) Mercator Projection

(3) Simple Cylindrical Projection
(4) Polyconic Projection

A map is constructed on RF 1 : 4,00,000.
What will be the ground distance for a
line of 5 cm on that map ?

(1) 20km (2) 200 km
(3) 20 hectometre (4) 200 decametre

Which one of the following oceanic
deeps is situated in Indian Ocean ?

(I) TongaDeep (2) Mariana Deep
(3) NaresDeep (4) Sunda Deep

Dry summer and rainy winter is the
characteristic of

(1) Monsoon climate

(2) Tropical rainy climate

(3) Mediterranean climate

(4) Western Europe type climate

The northernmost port of Suez Canal is
(1) Port Said (2) Port Suez
(3) Port Faud (4) Port Damietta
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C. fewum (Yaem)
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(4) THIE T areht
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3IeeH &
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(2) TN 9T
(3) SNa-THEf e
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e & 3 a1 STHeTTe wewa R 7
(1) JeEE| (2) SAfH
(3) #g @) T
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47.

48.

49,

50.

1.

S2.

Kayals (Backwaters) are found at
(1) Malabar Coast

(2) Konkan Coast

(3) Coromandal Coast

(4) Kathiawar Coast

Which of the following is a diastrophic
force/movements ?

A. Epeirogenetic forces
B. Sudden Forces

C. Avalanches

D. Orogenetic forces

Select the answer using the codes given
below :

(1) A, B and D only
(2) A only

(3) A and D only
(4) D only '

With reference to Isostasy who had said
“Uniform density with varying depth” ?
(1) Airy

(2) Pratt

(3) W.D. Thornbury

(4) Hayford and Bowie

Rift Valley is formed by
(1) Folding (2) Faulting
(3) Warping (4) Compression

Exfoliation is

(1) Biological weathering
(2) Chemical weathering
(3) Bio-chemical weathering
(4) Physical weathering

Which among the following is an
erosional landform ?
(1) Waterfall

(3) Loess

(2) Drumlin
(4) Delta
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54.
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FieNfra s qU g YOOt § &
HqeH | 39 @Rl § wHE g8
EIIRECRS

(1) ¥Fee Ja

(2) s oo

(3) U (herefesh) ga7
(4) TGISH 9E

T 8

(1) Sramh qreE Sfae T &g
@) Tafewfa qomm s &g
(3) ©TE AUHM NI &g

(4) FASA ATIHH UTeTm &

yferesrara § 390 Mo ¥ 9e9 g9
BT 8

(1) = g 5 IR

(2) =& gt < iage

(3) IS TE TRV TE Bl

(4). EHETE {@13TT &% HHFIR

TR 5 B

(1) Tef fa

(2) @ qerame fgy
(3) 3Ty FTREY gy
(4) IreTEieh (&Y

frifera & & fram ware faf 6 saafa
Q gefirg femrh fremm fagia =1 afoure
fFm ?
(1) W
(3) wifda

(2) seft
4) sfm
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53.

54.

S8,

56.

57.

The wind blowing parallel to isobar as
a result of balance between pressure
gradient force and corriolis force is

(1) Planetary wind
(2) Geostrophic wind
(3) Katabatic wind
(4) Adiabatic wind

Long nights, constant weather and clear
sky are ideal conditions for

(1) Frontal Temperature inversion

(2) Radiation Temperature inversion

(3) Valley Temperature inversion

(4) Subsidence Temperature inversion

Wind circulation in anticyclone in
northern hemisphere is

(1) Clockwise

(2) Anti-clockwise
(3) Nocirculation
(4) Parallel to isobars

Globigerina ooze is
(1) Terrigenous deposit
(2) Neritic deposit
(3) Pelagic deposit

(4) Inorganic deposit

Who among the following propounded
the Glacial Control Theory of origin of
coral reefs ?

(1) Murray
(3) Darwin

(2) Daly
(4) Davis
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Sea Breeze is created due to

A. Differential rate of absorption and
transfer of heat by land and sea.

B. Corriolis force
C. Pressure gradient force

Select correct answer from the codes
given below :

(1) AandConly (2) A,B and C
(3) Conly (4) A only

Who among the following was not a
supporter of possibilism ?

(1) Vidal de lablache
(2) Blanchard .

(3) Jean Brunhes

(4) Elsworth Huntington

Eskimos are
(1) Alpine
(3) Negroids

(2) Caucasoids
(4) Mongoloids

Who wrote the book ‘Civilization and
Climate’ ?

(1) Carl Ritter

(2) A.V.Humboldt

(3) E. Huntington

(4) Mark Jafferson

Wooly hair, bulbuous head, broad flat
nose and slightly protruding jaws are
the features of

(1) Proto Austroloid race
(2) Mediterranean race
(3) Negrito race

(4) Nordics race

The pygmies of Indonesia belong to
(1) Caucasoid race '

(2) Negroid race

(3) Mongoloid race

(4) Australoid race
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John Q. Stewart model of migration
was based on

(1) Darwin’s Theory

(2) T. Hagerstrand Theory

(3) Ratzel’s living space

(4) Newton’s law of gravitation

Which among the following district is

main producer of soyabean in
Rajasthan ?
(1) Baran (2) Hanumangarh

(3) Bharatpur (4) Alwar

The sea advancing on land is an
example of

(1) Negative movement
(2) Horizontal movement
(3) Synclineil movement
(4) Positive movement

New fold mountains are formed along
(1) divergent plate boundaries

(2) convergent plate boundaries

(3) transform plate boundaries

(4) fault line

Which one of the following is not
correctly matched ?

(1) Mahan -~ Sea power
(2) Cohen — Crush Zone
(3) Mackinder - Pivot Area
(4) Spykeman - Rimland

Which of the following are inert gases ?
A. Helium B. Krypton
C. Neon D. Zenon

Select the answer using the codes given
below :

(1) AandB (2) A,BandC
(3) A,B,CandD (4) A,CandD

05
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70. “Hotter a body, the more energy it will

radiate with a shorter wavelength
radiation” is related with

(1) Charle’s law
(2) Boyle'’s law
(3) Planck’s law
(4) Gay-Lussac’s law

Ten Degree Channel separates

(1) South Andaman
Andaman

Little Andaman and
Andaman

Car Nicobar and Comarta Island

Great Andaman Group of islands
and Nicobar Group of islands

and North

(2) South

3
@

Who postulated concept of Isostasy
with “varying density of column” ?

A. Airy B. Pratt
C. Hayford D. Bowie

Select the answer from the codes given
below :

(1) Bonly

(2) BandD only
(3) A,CandD only
(4) B,CandD

Which among the following is an
uniquities ?

(1) Cryolite
(3) Soil

(2) Uranium
(4) Oxygen

Which among the following states not
lies in corn belt of the United States of
America ?

(1) Kentucky
(3) Ilinois

(2) Indiana
(4) Utah
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The periglacial topography is a result of
(I) Compressional forces

(2) Denudation

(3) Diastrophic forces

(4) Tensional forces

In Brazil shifting cultivation is known
as

(1) Chengin
(3) Milpa

(2) Masole
(4) Roca

Match List — I (City) with List — II
(Main Industry) and select the correct
answer from the given codes :

List -1 List - II

a. Detroit (USA) i. Iron and Steel

b. Pittsburgh ii. Automobiles
(USA)

c. Hamburg iii. Ship
(_Germany) Manufacturing

d. Osaka (Japan) iv. Cotton Textile

Codes :

(1) R |
(2) ii P S |
@3) i i i W

@) -1 wm i -

Mesabi range is situated in
(1) Andes Mountain

(2) Great Lakes Region
(3) Ural Mountain

(4) Alps Mountain

05
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- (3) Kwanto

Which of the following industrial area
of Japan is famous for car industry ?

(1) Kinki plain (2) Kyoto
(4) Nagoya

Who is the author of the book entitled
“Nature of Geography” ?

(1) Hartshorne (2) Harvey
(3) Ratzel (4) Ritter
Who defined “Geography is a

chronological Science which aims to
study the areal differentiations and their
spatial relations of the earth surface” ?

(1) Hettner (2) Richtofen
(3) Ritter (4) Eratosthenes

Which of the following book deals with
mathematical geography and
astronomy ?

(1) Die-Erdkunde

(2) Almagast

(3) Ges-Periodos

(4) All Possible World

The concept of T erra-incognité was
propounded by

(1) Eratosthenes
(3) Ratzel

(2) Hartshorne
(4) Ptolemy

Who among the following geographer
studied and described the pre-historic
Red Indian frontier settlement of
Mexico ?

(1) E.C. Semple
(2) A.B. Brigham
(3) Rollin D. Salisbury
(4) Carl O. Saur
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Who laid foundation of the professional
periodical “Annals de Geographie” ?

(1) Jean Brunhes
(2) Elisse Reclus
(3) Vidal de Lablache
(4) Albert Demangeon

Match List — I with List — II and select
the correct answer from the codes given
below :

List -1

List - II

(Dam/Project) (Location)
A. Meja Dam 1. Banswara
B. Jakham Dam 2. Pratapgarh
C. Jawai Dam 3. Bhilwara
D. Mahi Bajaj 4, Pali

Sagar Dam
Codes :

A B GRS
5§ SUl R B Shded |
@) B ot 1
3y 4 3 2 1
o s i e S

Horse shoe-shaped or ring shaped coral
reefs are also known as

(1) Barrier reef
(2) Fringing reef
(3) Atoll

(4) Boat channel

05
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Chuquicamata is the largest mine of
(1) Iron ore (2) Copper

(3) Zinc (4) Gold

Which is the correct chronological
order of geographers ?

(1) Anaximander — Eratosthenes —
Strabo — Ptolemy

(2) Ptolemy — Eratosthenes —
Anaximander — Strabo

(3) Strabo —  Eratosthenes —

Anaximander — Ptolemy

(4) Eratosthenes — Strabo — Ptolemy
— Anaximander

Kayad, Mohkampura and Sindesar
Kalan east have rich reserves of

(1) Limestone
(2) Tungston
(3) Lead & Zinc
(4) Dolomite

Who was the first geographer who
divided the world landmass into three
continents ?

(1) Hecataeous
(2) Hipparchus
(3) Herodotus
(4) Al-Idrisi
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Match List — I with List — IT and select
the correct answer from the codes given
below :

List -1 List - II
(Industries) (Location)
A. National 1. Kota
Engineering
Company
B. Worsted 2. Jaipur
Spinning Mill
C. SriRam Cement 3. Raila
: (Bhilwara)
D. Modern Threads 4. Ladnu
Codes :
AiaBe € B
00 R . e | 3
2 4 2 1 3
@ 1. &2 5
4) 2 1 3 4
As per Census of India 2011, the
percentage of rural and urban
population in Rajasthan is

(1) Rural - 68.8% Urban — 31.2%
(2) Rural -75.1% Urban - 24.9%
(3) Rural - 73.3% Urban - 26.7%
(4) Rural -70.6% Urban - 29.4%

Who propounded the “Organic Theory
of State” (Lebensraum) ?
(1) Hartshorne (2) Ratzel

(3) Saur (4) Blache

Which of the following group is
arranged in descending order according
to their average annual rainfall ?

(1) Ajmer, Bundi, Ganganagar, Naga

(2) Ganganagar, Bundi, Ajmer, Nagai
(3) Ajmer, Bundi, Nagaur, Ganganag
(4) Bundi, Ajmer, Nagaur, Ganganag
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Who is the author of “Pulse of Asia” ?
(1) Ratzel (2) Hartshorne
(3) Huntington (4) Humboldt

Who among the following presented
the concept of “Cultural landscape” ?

(1) Saur (2) Haggett
(3) August Comte (4) Ratzel

Which statement is incorrect in context
of western disturbances ?

(1) They originates from Mediterranean
Sea.

(2) Their moisture content augmented
from Caspian Sea and Gulf of

Persia.

(3) They never reach India in occluded

form.

(4) Jet Stream plays an important role

in bringing these disturbances to
India.

Who propounded ‘Slope Replacement
Model’ ?

(1) L.C.King
(3) W.M. Davis

(2) W.Penck
(4) A.N. Strahller

Which of the following factors were
taken into account in Weber's Least
Cost Theory ?

A. Raw material B. Capital
C. Transportcost D. Market

Select the correct answer from the
codes given below :

(1) Only A, C and D are correct.
(2) Only A, B and C are correct.
(3) A, B, Cand D are correct.

(4) Only A, B and D are correct.
a
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In Rajasthan Wasteland Development
programme is implemented by

(0Y)
(2)
3)

Agriculture Department
Irrigation Department

Department of Rural Development
and Panchayati Raj

(4) Forest Department

As per 2011 Census which among the
following  districts has  highest
proportion of urban population ?

(1) Alwar (2) Dhaulpur
(3) Bharatpur (4) Karauli

Which among the following is an
example of Bolson ?

(1) Khatu Salt Lake

(2) Pachpadra Lake
(3) Sambhar Lake
(4) Didwana Lake

Nathra-Ka-Pal is situated in
(1) Jaipur (2) Udaipur
(3) Alwar (4) Khetri

Kalaguman mine area is famous for
(1) Garnet (2) Emerald
(3) Quartz (4) China clay

Chambal Fertilizers and Chemicals
Limited is situated in which district of

Rajasthan ?
(1) Kota (2) Bundi
(3) Baran (4) Jhalawar

As per 2011 Census which among the
following  districts has  highest
population density ?
(1) Ganganagar

(3) Nagaur

(2) Hanumangarh
(4) Baran
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‘Khadin’ is a

(1) Tribe

(2) Water Conservation Technique
(3) Forest Conservation Technique
(4) Tribal Village

‘The book ‘The Geography of Puranas’
is written by

(1) RN.Dubey (2) S.M. Ali

(3) E. Ahmed (4) R.L. Singh
‘Baroque Style’ of urban planning

belongs to

(1) Pre-historical period
(2) Ancient period

(3) Renaissance period
(4) Medieval period

The causes of individual differences are
(1) Hereditary only

(2) Environment only

(3) Parents’ involvement

(4) Environmental and Hereditary
both

Which one is the most challenging
work of a teacher ?

(1) To make students punctual in the
classroom.

)
3)
)

Evaluation of answer-scripts.
To not punish students in the class.

To make the teaching-learning
process enjoyable.

A teacher wants to ensure the
participation of most of the students of
the class in the teaching-learning
process. The teacher should adopt
(1) Lecture method

(2) Induction method

(3) Discussion method

(4) Demonstration method



114.

115.

116.

117.

ﬁs@‘wﬁ#maﬁmﬁamaﬁ

aRFmR_ wEdd |
(1) e

(2) SATCHETARTT

(3) THSH

(4) augea

e & T T ) HE 99 P 8, I
ety ohat e & | T8 8

(1) Trse we®

(2) SfewTET STeTeh

(3) THEATHS ST

4) TSN A HH Tl I STl FTeTh

w frr feR S L EDIREED
frem fyerfira = o 3 8

A. whrer 3 ot # et €9 8 99
g e |

et & et Rt o fere safea
=7 & Rftr T 3= FT R |
o gfn  aR A e & < e
FAATEE |

D. ST ao L gl @ |

F2: .

B.

C.

(1) Faet A, B 3R

(2) %@ B,C 3IRD
(3) HIAATAID
(4) A,B,C3RD

Srfafea § & BN 1 B FFEHED
Syt 3 Ry I Tl S s
3 FTET B 1 TATE HI 7
(1) THEBEANFE 1HR
2) HOERNFHSHE |
(3) THOEANBAISHE |
(4) THETENHET12HR |

24

114.

115.

116.

117.

The process of incorporation of new
information into existing knowledge is
called '
(1) Adaptation

(2) Assimilation

3 Accommodation

(4) Equilibration

In a classroom a child who asks man)
questions, and has a wide range O
interests

(1) Backward child

(2) Gifted child

(3) Problem child

(4) Underachiever child

An adolescent who has develope
formal operational thought can

A. think systematically about tl

future.

B. systematically generate differe

possibilities for a given situation

C. think about thg worlds that do n

exist.
D. go for inductive reasoning
Codes :
(1) OnlyA,B&D
(2) OnlyB,C&D
(3) OnlyA&D
4) A,B,C&D

Which of following students is o
likely to confirm to peer expectati
for academic achievement ?

(1) A student who is in class 1.
(2) A student who is in class V.
(3) A student who is in class VIIL
(4) A student who is in class XII.
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118.

119.

120.

121.

122.

Information-processing is most closely
aligned with

(1) Behaviourism

(2) Gestalt psychology

(3) Cognitive psychology

(4) Social-cognitive psychology

Creativity relates to

(1) Convergent thinking
(2) Divergent thinking
(3) Concrete thinking

(4) Critical thinking

Which of these must be avoided for
effective classroom communication ?
(1) Completeness

(2) Feedback

(3) Ambiguity

(4) Environmental Comfort

The social-constructivist
emphasizes on

(1) how to process information
through attention, memory and
strategies.

social context of learning and how
that knowledge is mutually built
and constructed.

social context of learning and how
that knowledge is built and
constructed by students.

social context of learning and how
that knowledge is built and:
constructed by teachers and
family.

approach

)

3

4)

Which one of the following is not
related to the educational guidance of
the students ?

(1) Making an adjustment to school
(2) Guidance for special needs
children

Selection of books

Helps to understand world of work

3)
4
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123. Which one of the following is not :
common characteristic of adolescence

(1) Imaginary audience
(2) Invincibility

(3) Personal fable

(4) Obedience

124. Learning by conditioning is learning b
(2) Association

(4) Modelling

(1) Cognition
(3) Observation

125. Which Education Committee h:

recommended the inclusion ¢
guidance and counselling, includin

vocational placement in stude

services 7

(1) The Education Commissic
(1964-66)

(2) National Policy of Educatic
(1968)

(3) The Draft National Policy ¢
Education (1979)

(4) Mudaliar Commission (1952-53

126. During the lunch-break Shobhit se
Manish take Rahul’'s lunch. Sor
afterward, he sees Rahul retaliate |
taking Manish’s favourite pen. Shobl
does not report these incidents to t
teacher, because they involve equ
exchange. According to Kohlbe:
which stage of moral development b

Shobhit reached ?
(1) Stage 2 (2) Stage3
(3) Stage 4 (4) Stage5

127. Which one of the following is I

correct about the use of teachir

learning material in the classroom ?

(1) It enhances students’ interest.

(2) Teachers can show their creativ
to students.

(3) It increases the educatio
efficiency of students.

4)

It increases active participation
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128.

129.

130.

131.

Which one is not true about the
constructivist approach of learning ?

(1)

New learning depends on prior
understanding.

Learners are passive recipients of
stimuli from the environment.

2

Learners construct
understanding.

3

their own

(4)

Authentic learning tasks promote
meaningful learning.

Which one of the following is the best
example of intrinsic motivation ?

(1) Sapna is reading the story book
because her teacher has assigned it
and she wants to please her
teacher. ;

(2) Manav is studying hard to obtain a

good grade in the class.

(3) Ritu is studying hard for a test
because she enjoys the content of

the course.

(4) Rajat is studying hard because if
he gets good marks in the test, his
father has promised to give a

bicycle.

‘Discovery -learning’ is based on
concept of learning given by

(1) Piaget (2) Bruner
(3) Vygotsky (4) Ausubel

The awareness of one’s own mental
processes and strategies is referred to as

(1) Metathinking
(2) Metacognition
(3) Metamemory
(4) Metaintelligence
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133.

134.

135.

had first defined the term

_‘emotional intelligence’.

(1) Gardner and Sternberg

(2) Daniel Goleman

(3) Denah Zohar

(4) Peter Salovey and John Mayer

A ‘science-inquiry ~model’  wa:

developed by

(1) David Hunt

(2) Donald Oliver and James P. Shav
(3) Hilda Taba

(4) Joseph S. Sehwab

Which one of the following ai
characteristics of cooperative learning

A. Group goals
B. Individual accountability
C. Equal opportunity for success

D. Extraload on active students

_ Codes :

(1) A, B and C are correct.
(2) B,CandD are correct.
(3) A,CandD are correct.
(4) A,BandD are correct.

The ‘advance organizer model’ cor
in

(1) Social-interaction model famil

(2) Personal development  mC
family

(3) Information-processing M
family

(4) Behaviour modification m
family
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136.

Defense mechanisms are
(1) Social process

(2) Ego-protective

(3) Counselling process
(4) Emotional process

137. Which one of the following is not

138.

139.

140.

correct about building critical thinking
among adolescents ?

(1) Argue in a reasoned way rather
than through emotions.

Ask not only ‘what’ happened, but
“also ‘how’ and ‘why’.

Use lecture method to complete
the course on time.

Compare various answers to a
question and judge which is really
the best answer.

2)
3

(C))

In Internet technology HTML stands
for

(1) Hyper Text Markup Language
(2) Hyper Text Makeup Language
(3) Hyper Text Medium Language
(4) Hyper Text Make Language

Computer Assisted Instruction is based
on the principle of

(1) Classical Conditioning
(2) Operant Conditioning
(3) Insight

(4) Systematic-behaviour

Mr. Singh has enrolled his students in
an online history course. This type of
distance learning is referred to as

(1) Tutorial

(2) Email

(3) Web enhancement
(4) Virtual School
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141. Mohorovicic discontinuity separates
(1) Mantle and outer core
(2) Inner core and outer core
(3) Lower crust and upper mantle

(4) Upper mantle and lower mantle

142. Hypocentre of an earthquake is a
called
(1) Epicentre (2) Focus
(3) Shadow zone (4) Subduction:
143. Match List-I with List-II and sele
correct answer from the codes give
below :
List-1 List - II
A. Krakatao 1 U.'S.A.
B. Mt St. Helens 2. Ecuador
C. Cotapaxi 3. Sunda Strai
D. Mayon 4, Philippines
Codes :
A B & D
(D).J 3 4 2
2y 3 1 4 2
(3) 3 1 2 4
4) 2 4 3 1
144. Zeugen is formed by
(1) wind abrasion in horizontal la

of soft and hard rocks.

wind abrasion in vertical layer
soft and hard rocks.

)

wind attrition in horizontal la
of soft and hard rocks.

NE)

@

wind attrition in vertical laye
soft and hard rocks.
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145,

146.

147.

148!

149.

150.

2

The ‘braided stream’ is a characteristics
of

(1) Upper course of river
(2) Middle course of river
(3) Upper course of glacier
(4) Lower course of river

Which among the following is not
constant gas of the atmosphere ?

(1) Nitrogen

(2) Oxygen

(3) Carbon dioxide
(4) Argon

The atmosphere is mainly heated by
(1)
(2)
3)
)

long wave terrestrial radiation
short wave solar radiation
reflected solar radiation

scattered solar radiation

The maximum amount of water vapour
in the air is
(1) 2%
(3) 8%

(2) 6%
4) 5%

The transfer of heat through horizontal
movement of air is called

(1) Advection
(3) Radiation

(2) Conduction

(4) Convection

Guyots are
(1) deep sea plains

oceanic deposits
oceanic trenches

3)
(C))

flat topped seamounts
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